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Year 3 Maths  

Steppingstone activity ANSWERS 

Lesson 30 LO: To find a third 

 

  

 

 

 

 

 

  

 

  

 

 

 

 

 

 

 

 

 

 

Task 1:  

Use your toys or objects at home to help find a third of these amounts by 

sharing them into 3 equal groups: 

a) Third of 3 = 1 

b) Third of 9 = 3 

c) Third of 18 = 6 

d) Third of 12 = 4 

Task 2: 

 

 

 

 

The others are not divided in to three equal parts. 

 

Dora is incorrect. 

She has one quarter of a pizza 

because there were four slices 

altogether and she has one of them. 

There would need to only be three 

slices altogether for her to have one 

third. 
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